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33. 35JLodsgng@o

04 3mbodbyaos 2 b bogangdo gx®s, d530b gmggmo LFm@se dmbodbymo gxés

1 Jyeoos;

0% 3060 dbyeos 2-bg dgBo Px@s, 35906 Jymgdol asdmmgmobsl Lfm@se dmbodbya
YROSL 365000 gdl s@SLFm@s© dmboTbymo Px@o.

34. 35JLodsgng@o

gmggeeo LYmose dg3bgdgmo 3m@obmb@omme@o

bE®oJmbo — 1 Jyms

ggnoligds — 2 Jyeos
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gBobgds — 2 Jyeo

AL(OH),Cl + 2HCl — AlCl; + 2H,0




35. 35 JLodsgnyg@o  dggnobgds — 4 Jyms
goggmo Lfmoowe dggbgdgmo gx@s — 1 Jgms

S ) 3
-7
bod@omdol sBmdo
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36. 3s5Jlodoggdo  Vggolgds — 3 Jogms
gogoseo bomose dggbydgmo gxds — 1 Jams
X Y 4
Se03 PH; RbOH
37. 35Jbodoggbo  Yggolgds — 4 Jyes
37.1 sanydobol by asdo 1 Jogeos
AL(OH)5
372 2 Jasos
S0,
373 AL, (S0,); 2 2A13* + 3502~ 1 s




38. 35 JLodsgny@o  dggobgds — 3 Jyes

38.1 2 Jgeos
Zn° 2, Zn*z |8 |4
S+6 +_8e) S—Z 2 1

38.2 1 Jyeoo

47n + 5H>504— 47nS04 + H2S + 4H20

39. 85JL0dsmydo  Yggolgds — 5 Jgems

LFm@o sobabgdol gmm-g@bmo go@osbGo:

39.1 Cu+ 2H,S0, - CuSO, + SO, T +2H,0 1 s
392 CuS0, + Ba(NO3), » Cu(NO3), + BaS0, | 1 Jeos
393  Cu(NO3), + 2NaOH - Cu(OH), L +2NaN0, 1 s
394 Cu(OH), + 2HCIl - CuCl, + 2H,0 1 Jeos
395 CuCl, + Fe - ZnCl, + Fe 1 Jyaoo

40.95Jb0dsmgd0  Yggolgds — 5 Jgms

LPmGo sobaybgdol g@m-gGmo 5560565 0:

401 AlL,Cs + 12H,0 — 4AL(OH)3 | +3CH, 1 1 Joggms
402 2CH, N C,H, + 3H, 1 Jagmes
403 3C,H, —2%, ¢ H, 1 Jaems
404  C.He + HNO; =2, ¢ H.NO, + H,0 1 Jems
405 CoHNO, L ECRHD -y NH, + 2H,0 1 Jgems




41, 35Jbodsgny@o  gaobgds — 2 Jams

o060l 30Gm30lL mobsbdsw
M,(Na,X03) = 122
M,(NayX03) =2-23+x+3-16
x =28

g 0- Xo@mob Si

13151)27[7().' Nazsi03

42. 35dbodsgny@o  gaobgds — 2 Jams

m(HCL) = 1000 - 0.073 = 73 g
V(HCl) =73 :36.5 =2 dmaro
V(HCL) = 2-22.4 = 448 a»

dobmbo: 44.8 an.

43. 35Jbodsgna@o  Vggabgds — 3 Jgms

431 KOH + HNO; —» KNO; + H,0

1 Jges
432
v(KNO3) = 10.1: 101 = 0.1 dmano
95006 Jobgwgom vi(HNO3) = v(KNO3z) = 0.1 dmgno,
J-0- G500 0 Iggoes my(HNO3) = 0.1-63 =63 g 2 Jrggos

baen s@gdaemo s bmGdgogelb dsbss m(HNO3) = 6.3+ 3.7 =10 g

@900 do dgbaars

6.3
1o 100% = 63% HNOs

Jolbgbo: 63% obeadgogs




44. 35Jbodogmygdo  Ygegolgds — 4 Jams

441 M(C,Hy,) =2-D(H,) = 70
M(C,H,,) = 12n + 2n

CH, 2-dgomoenda596-2
HZCZCH—CllH—CH3

CH 3-dgomoand i gb-1

3

12n+2n =70 1 Jases

n=>5

JOZ);?Z?O.’ CSHIO

442

H,C=C—CH;CH,
| 2-d9omoend 6 96-1
CH,

H,C—C=CH—CH, 3 Jases




